The Industrial Revolution PPT Notes 
Guided Notes
Industrial Revolution
Important Terms
· ______________________________________ – a large-scale, major change that is long-lasting.

· _______________________________________ – Having to do with industry, business or manufacturing.

· _______________________________________ – a change from making things by hand to making them in factories.
The Industrial Revolution:  More definitions
· The major _________________________________________ from simple hand tools to complex 
machines, and from human and animal power to ______________________________________.
· The time period starting in 1750 in England when people switched from making goods in the home or on the farm to _________________________________________________________________.
Why did the Industrial Revolution happen in England first?
· _____________________________ Resources
· Coal
· Iron
· Human Resources
· _____________________________________________________.
· Loss of farm jobs led to an increase in demand for factory jobs.
· _____________________________________________
· Had lots of $$ from overseas empire (India, Africa, Australia)
· Population boom led to increased demand for goods
· Middle class was growing, and was able to invest some of their $$ in new industries.
· Politics and Society
________________________________________ (constitutional monarchy)

Christianity encouraged ___________________________________________.

Increasing focus on _______________________________________________. 

Causes of Industrialization
· #1:  _____________________________________ Revolution 

· #2:  _____________________________________Revolution 

· #3:  New ___________________________________ and _______________________________.
Agricultural Revolution:  
Crop Rotation
· Before 1700’s:
· ______________________________________________
· where one field laid fallow (unused)
· 1700’s
· ______________________________________________
· Charles “Turnip” Townshend began to use crops that would replenish nutrients to depleted soil.
The Seed Drill
· Jethro Tull invented the __________________________________, in 1701, it allowed farmers to sow seeds in well-spaced rows at specific depths. 

· When his invention was used, a larger share of the seed germinated. As a result, ______________________.
New Breeding Techniques
· Robert Bakewell: "breed the best to the best to get the best." 

· Bred _______________________________________ for more farm work.
· Bred fatter sheep and cattle for meat          
· These changes in __________________ caused a huge ______________ in the _____________________.  
The Enclosure Movement
· The process of __________________________________________________ and fencing off a large area of land.
· _______________________________________________ (fewer people needed to work, could experiment with new crops, much more efficient, and more cost effective).
· _____________________________________________________________, they lost their farms.
The Importance of the Agricultural Revolution to the Industrial Revolution
· Crop yield increased (______________________________________).
· Enough food was available for people in the ____________________  and it was cheaper.
· Falling food prices meant more money to spend on __________________________________________. 
· Healthier people which meant decline in death rate, especially in infants. 
· In the 18th century, the population _____________________________ from 5 million to 10 million.
· Wool yield increased due to __________________________________________________ and selective breeding.
· More wool was available for the _____________________________________ and at less cost.

· Ready __________________________________ available.
· Peasants were turned off their land by ________________________________________. 

· Families moved into the cities (_____________________________________________).

· There was much _______________________________ and many people were looking for 
______________________________. 

· _______________________________ was ____________________________________. 
Population Boom
· As a result of the __________________________________________ Revolution:
· Less risk of _________________________________________.
· Better quality of crops = _________________________________________.
· Europe’s population _____________________________ from 120 million to 190 million.





Social Patterns
· POPULATION _______________________________________.
· Better farming techniques 
			= more _________________________ + healthier __________________________. 
	 			    = longer life 
					= more babies
· There was an increase in labor migration.
·  People moved from all areas to all areas. 
· As a result of the __________________________________________, people’s needs for resources also grew.
· So they turned to fossil fuels.
Migration from Europe - Mainly before 1750s 
· Wars
· __________________________
· __________________________
· Natural disaster
The _________________________________
Beginning in 1845 and lasting for six years, the _______________________ killed over a million men, women and children in Ireland and caused another million to ____________________________.
Also, they needed new homes and ____________________ being built for laborers and new community members
Eli Whitney invents the Cotton Gin
· Allowed for the mass production of cotton.
· Was used to __________________________________ 
· promoted the idea of interchangeable parts--standardized, identical parts that made for faster assembly and easier repair
Leads to an Increase in demand for housing…  Tenements (high rise apartments that house dozens of families).  
Energy Revolution
From burning ______________ and using ____________________ to using…
· Coal
· Gas
· Petroleum
· Electricity
· Nuclear
· Main source of energy during the Industrial Revolution = fossil fuels.
· Comes from VERY OLD forests that decay over millions of years and compound with rocks and other dirt to become coal.
Coal
· ______________________________ to excavate.

· More efficient than burning _______________________________________________.

· Even MORE efficient with new _____________________________________________.
· How it works:
· Burn coal to create steam.
· Steam turns gears and turbines in machine to make it “go”

· Used in ______________________________ of ___________________________________________.

· Used to __________________________________________________ goods and people.
Commercial Revolution
· ____________________________________________ (controlling the economies of colonies) created a huge market for European goods. 
· New wealthy classes had money (_____________________________) to invest in factories and new businesses.
New Technology
· New machines allowed __________________________________________ of goods (many at a time). 
· New inventions ________________________________________ products and created new products.
Who was the First Country to Industry to Industrialize? _____________Which Industry? _________ 
Why did we need an industrial revolution? ________________________________________
Spinning Jenny – 1764
· James Hargreaves’ invention greatly ______________________________ the  ______________________ it took 


· to turn ________________________________.  So much so his neighbors were most unpleased.
The Water Frame – 1768
· Richard Arkright’s invention was the ____________________________ to harness 

____________________________________.  When he added these to his cotton mill and brought his 

employees to him, he became the _______________________________________________________.
The Spinning Mule – 1779
· Samuel Crompton’s invention married the _______________________________________ with the 

_____________________________________.  This technology was used in some form until the 1980s.

The Power Loom – 1785
· _____________________________ goods became ______________________________________.
·  In the past only wealthy could afford the comfort and cleanliness of “body linen.”
· The technology is still used today. 
The Steam Engine
· _____________________________________________ was a repair man for Thomas Newcomen. 
· Watt figured out a way to make a _____________________________________________ which got four 

times as much ____________________________________________ from the same amount of coal. 
Transportation and communication revolutions
· New machines transported people and information ______________________than ever before
· Steamboat
· Newspapers and printing
· Telegraph and telephone

· ____________________________________.
Railway Development in Europe - There was a ________________ increase in railroad transportation from 1840-1850. 

Why do we all get to wear underwear?

First, cottage industries could not produce _________________ fast enough.  The _________ allowed for __________ to be spun into yarn.  Then, machines like the _____________ allowed the thread to be shot across the loom ___________.  Finally, inventions like the _____________ and then the ________________, invented by John Watts added increased power to the production process, thus allowing an _________ in production.  And with machines like the ___________ cotton became cheaper.  Therefore, underwear could be produced faster, and therefore ____________ and everyone could afford to wear _____________.  

Word Bank: Spinning Jenny, cloth, faster, underwear, water frame, steam engine, water loom, cheaper, string, increase, power loom, flying shuttle 
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· Increased _________________________________ networks of _____________________________.

· More goods, better goods that ________________________________________ to produce.
· Quicker, more efficient transport.

· For some, it becomes ___________________________________________________ some goods than to produce their own.
· New ideas relating to economics

· Adam Smith, __________________________________________________.


· Promoted a “____________________________________________.”


· Gov’t should ____________________________________________ prices or people’s abilities to buy and sell goods. 

Political Patterns

· Development of _____________________________________________ ideology.


· People should be able to _______________________________ their own government.


· People should have ____________________________________. 

· Gov’t should __________________________________________ these rights.

· What could this have been caused by?


· Gov’ts began to:

· Promote ______________________________ for ________________________.

· Write _________________________________________________ giving people rights.
· Create representative institutions (what does this mean?)

· Happened through their ____________________ or ______________________.

Urbanization
· Transfer of people and economic focus from rural (_____________________) to urban (___________________) areas.

· Development of the _______________________________.

· Expansion of ____________________________________________.

· Tenement living
· Very __________________________, very _____________________________.

· Many people shared garbage dumps, toilets/outhouses, sewers

· Disease spreads ________________________________.

The Rich Get Richer…

· Ever-growing _____________________________ class.
· Those that had money to invest in new industries earned even MORE money as the industries grew.

· Helped out by __________________________ labor and ________________________labor.

T / F: Powerful economic growth spread equally among the world’s countries.

For the world as a whole:
· __________________________________________________________ among all the world’s countries.  

· Or among people from the ________________________________________________.

· Those countries that had the ___________________________________ (resources, manpower, money) to modernize through industry became wealthy and successful…

· They sold their goods to the _______________________________________ bidders.


What happens next…
· Capitalism and communism…
· Marxism and socialism…
· Colonialism and Imperialism… 
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